
Mathematics 5th Class Chapter 8 English Medium Online Test

Sr Questions Answers Choice

1 The length of a squre shsped field is 20 m then its perimeter will be.
A. 40 cm
B. 60 cm
C. 80 cm
D. 100 cm

2 Wha will be the aea of a square, if length of its side is 5 cm.
A. 25 cm3
B. 125 cm3
C. 25 cm
D. 125 cm

3 It the length of a side of square is 3 cm then find its perimeter.
A. 6 cm
B. 8 cm
C. 12 cm
D. 15 cm

4 The perimeter of a rectangle is 128 cm, its lengthis 45 cm, What willbe its width.
A. 10 cm
B. 14 cm
C. 15 cm
D. 25 cm

5 Formula to find the area of rectangle.
A. Length + Wide
B. Length = wide
C. 4 + length
D. Length = length

6 If the perimeter of the rectnge is 34 cm and we increase its length by 2 cm then there will be
a difference of ...... cm in its parimeter.

A. 2
B. 4
C. 6
D. 8

7 Perimeter of a square is 16 cm . Find the length of its one side.
A. 32 cm
B. 4 cm
C. 16 cm
D. 8 cm

8 If the length of a rectangle is 4 cm and width is 3.4 cm, then its peimeter will be equal to.
A. 11.4 cm
B. 7.4 cm
C. 14.8 cm
D. 10.8 cm

9 The length of all sides of a ...... are equal
A. Rectangle
B. Square
C. Trapezium
D. Circle

10 Th length of a side of a square is 10 c its are awill be.
A. 10 cm 3
B. 40 cm3
C. 60 cm3
D. 100 cm3

11 he space covered by the surfac of any 2- dimensioal shape is called its.
A. Perimeter
B. Area
C. Length
D. Wide

12 4 x length of a side =
A. Perimeer of triangle
B. Perimeter of Circle
C. Perimeter rectangle
D. Perimeter of square

13 To total length of the boundary of a closed region is called its
A. Perimeter
B. Area
C. Side
D. Length

14 If the area of a square is 121 cm3 then its perimeter willbe.

A. 144 cm

B. 11 cm
C. 44 cm
D. 88 cm

15 If the perimeter of a square is 24 cm then its area will be.
A. 36 cm3
B. 36 cm
C. 40 cm
D. 42 cm



16 The area of a square is 144 cm3, Find he length of its one side.
A. 12 cm
B. 16 cm
C. 288 cm
D. 20 cm

17 1 day =---------------- weeks.
A. 7
B. 1/7
C. 30
D. 12

18 Whcih of the following is not the unit of area.
A. cm3
B. m2
C. km3
D. km

19 The length of a rectangle is 2 cm and wid is 1 cm, Perimeter of the rectangle will be.
A. 2 cm
B. 6 cm
C. 3 cm
D. 12 cm

20 The length ans width of a ectangular window is 60 cm and 30 cm respecitively. its are will be.
A. 1800 cm3
B. 90 cm3
C. 1800 cm
D. 180 cm3


